In finding the size of each square within the map, an equation must be made. In doing this, primarily, the x- and y- variables must be defined. These variables are taken from the countries statistics. These statistics were defined from the raw data of the countries. The number of ISP from each country were first divided the number of ISPs in the United States and then divided by 100 to give a percentage. This percentage was then separated in largest and smallest. The largest number was then set as the 1st x value. Then, the smallest number was set as the second x value. These x values were then combined with the largest possible square size and the smallest. Therefore the 1st x value was combined with the figure 400cm2 and the 2nd x value was combined with 4cm2. They were then substituted into the basic slope formula:  y=mx+b. This left two equations to be equaled out to one. They were then subtracted by each other and since the b was cancelled out, there was only one undefined variable left, m. The m was isolated and therefore defined. This gave the ability to find the b. It was then substituted into one of the previous equations and defined. This then left the an m and b variable with an available x and y variable. 
        400cm2=100m+b

   -4cm2=0.012821m+b
396cm2=99.98717m
m=3.9605
400cm2=100(3.9605)+b

-396.05                -396.05

b=3.95

Since the x variable was already known (percentage) this only left the Y variable to be defined. After defining the Y variable, the square root was taken from that figure and this gave the final side length. This figure was the rounded of in 1/2s of a cm and produced.
